OPTIMA REGULATOR TO eFLUSH REGULATOR CROSS REFERENCE
op ARTNUMBER DESCRIPTION (eFLUSH MANUAL
REGULATOR)**
3200-00 PRESSURE REGULATOR, BASIC 3250-00
3221-00 PRESSURE REGULATOR 22MM X 450MM, 1 OUTLET, NO HANGER 3255-00
3201-00 PRESSURE REGULATOR 22MM X 450MM, 1 OUTLET, SMALL HANGER 3251-00
3226-00 PRESSURE REGULATOR 22MM X 450MM, 2 OUTLET, NO HANGER 3255-02-00
3206-00 PRESSURE REGULATOR 22MM X 450MM, 2 OUTLET, SMALL HANGER 3251-02-00
3201-6-00 PRESSURE REGULATOR 22MM X 600MM, 1 OUTLET, SMALL HANGER 3251-6-00
3206-6-00 PRESSURE REGULATOR 22MM X 600MM, 2 OUTLET, SMALL HANGER 3251-02-6-00
3221-9-00 PRESSURE REGULATOR 22MM X 900MM, 1 OUTLET, NO HANGER 3255-9-00
3211-00 PRESSURE REGULATOR 28MM X 450MM, 1 OUTLET, LARGE HANGER 3252-00
3231-00 PRESSURE REGULATOR 28MM X 450MM, 1 OUTLET, NO HANGER 3256-00
3236-00 PRESSURE REGULATOR 28MM X 450MM, 2 OUTLET, NO HANGER 3256-02-00
3211-6-00 PRESSURE REGULATOR 28MM X 600MM, 1 OUTLET, LARGE HANGER 3252-6-00
3231-6-00 PRESSURE REGULATOR 28MM X 600MM, 1 OUTLET, NO HANGER 3256-6-00
3216-6-00 PRESSURE REGULATOR 28MM X 600MM, 2 OUTLET, LARGE HANGER 3252-02-6-00
3231-9-00 PRESSURE REGULATOR 28MM X 900MM, 1 OUTLET, NO HANGER 3256-9-00

**SOLENOIDS/CONTROLLER SOLD SEPARATELY TO ADD AUTOMATIC FLUSHING CAPABILITIES TO MANUAL
eFLUSH REGULATORS. ABOVE IS A CROSS REFERENCE TO EXISTING OPTIMA REGULATOR KITS THAT
INCLUDE HANGERS, SIGHT TUBES, AND TRANSITION PIECES

MAT'L: DRAWN BY: UNLESS OTHERWISE SPECIFIED,
See Details EROPRIETARY AND CONFIDENTIAL DIMENSIONS ARE IN INCHES
FINISH or SOURCE: THE INFORMATION CONTAINED IN THIS UNSPECIFIED ANGLES ARE 90"+ 1
TREATMENT: DRAWING IS THE SOLE PROPERTY OF INCH TOLERANCES: | METRIC TOLERANCES:
Lo LUBING SYSTEMS LP. ANY REPRODUCTION FRACTIONAL+1/16" | ANGULAR: +1.0
See Details IN PART OR AS A WHOLE WITHOUT THE ANGULAR: 1.0 X *05
+ +
WEIGHT: SCALE: DATE: WRITTEN PERMISSION OF LUBING SYSTEMS XXX £0.01 X.X +0.25
LP IS PROHIBITED. X.XXX *0.005 XXX +0.1
17.97 1:5 4/29/2022 XXXXX +0.0005

14psi MIN. SUPPLY PRESSURE FOR
ADEQUATE FLUSHING REQUIRED.
25-35psi SUPPLY PRESSURE
RECOMMENDED.

OPTIMA REGULATOR

REGULATORS SHOWN WITHOUT
ACCESSORIES FOR CLARITY. SEE
CHART BELOW FOR KITS
INCLUDING ACCESSORIES.

eFLUSH MANUAL REGULATOR

THREAD IN/THREAD OUT
FLUSH ASSEMBLY

HALF TURN FLUSH KNOB ASSEMBLY

DWG. NO. PART NO.

— e ———
FARMER BOY

www.farmerboyag.com - 800-845-3374

DESCRIPTION:
OPTIMA/eFLUSH MANUAL REGULATOR COMPARISON



OPTIMA SERIES REGULATOR PARTS BREAKDOWN

UNLESS OTHERWISE SPECIFIED,
DIMENSIONS ARE IN INCHES
UNSPECIFIED ANGLES ARE90°+1°

ITEM NO. | DRAWING NO. DESCRIPTION QTy.
1 760 112 01 00 FLUSH KNOB ASSEMBLY, OPTIMA REGULATOR 1
2 0302402009 TOP SHELL, OPTIMA REGULATOR 1
3 0302402101 BOTTOM SHELL, OPTIMA REGULATOR 1
4 0302402200 ADJUSTMENT KNOB, OPTIMA REGULATOR 1
5 0302402300 ADJUSTING NUT, OPTIMA REGULATOR 1
6 03024024 00 DIAPHRAGM PLATE, OPTIMA REGULATOR 1
7 0302402500 DIAPHRAGM STUD, OPTIMA REGULATOR 1
8 0302402601 VALVE LEVER, OPTIMA REGULATOR 1
9 0302402701 LEVER COLLET, OPTIMA REGULATOR 2
10 03024028 00 DIAPHRAGM, OPTIMA REGULATOR 1
11 0302403200 FLUSH SEAL, OPTIMA REGULATOR 1
12 0302403300 SPRING, OPTIMA REGULATOR 1
13 2380224 M4.2 X 13 PAN HEAD SCREW, STAINLESS 2
14 2398031 M4 X 14 THREAD FORMING PAN HEAD SCREW, STAINLESS 9
15 2515154 M10 X 1 HEX NUT, OPTIMA REGULATOR 1
eFLUSH SERIES REGULATOR PARTS BREAKDOWN
ITEM NO. | DRAWING NO. DESCRIPTION QTy.

1 030 200 86 02 FLUSH KNOB ASSEMBLY, eFLUSH REGULATOR 1
2 030 240 65 00 TOP SHELL, eFLUSH REGULATOR 1
3 0302402101 BOTTOM SHELL, OPTIMA REGULATOR 1
4 0302402200 ADJUSTMENT KNOB, OPTIMA REGULATOR 1
5 0302402300 ADJUSTING NUT, OPTIMA REGULATOR 1
6 030 240 24 00 DIAPHRAGM PLATE, OPTIMA REGULATOR 1
7 0302402500 DIAPHRAGM STUD, OPTIMA REGULATOR 1
8 0302402601 VALVE LEVER, OPTIMA REGULATOR 1
9 0302402701 LEVER COLLET, OPTIMA REGULATOR 2
10 0302402800 DIAPHRAGM, OPTIMA REGULATOR 1
11 0302403200 FLUSH SEAL, OPTIMA REGULATOR 1
12 0302403300 SPRING, OPTIMA REGULATOR 1
13 2380224 M4.2 X 13 PAN HEAD SCREW, STAINLESS 2
14 2398 031 M4 X 14 THREAD FORMING PAN HEAD SCREW, STAINLESS 9
15 2515154 M10 X 1 HEX NUT, OPTIMA REGULATOR 1

Sea Datails B HICKs PROPRETARY ANDCONFIDENTAL

. o noor || oS
See Detalls avpaonseawoLe w1 | oo 0t
1807 s P 200 1P 15 PROVIBITED: X000 200005

METRIC TOLERANCES:

ANGULAR: +1.0
X *05

X.X +0.25
XXX +0.1

— e ———
FARMER BOY

www.farmerboyag.com - 800-845-3374

DWG. NO.

DESCRIPTION:

OPTIMA/eFLUSH MANUAL REGULATOR SPARES CROSS REFERENCE

PART NO.



STANDARD REGULATOR ACCESSORIES (i.e. HANGERS, TRANSITION PIECES, BREATHER TUBES, ETC.)
ARE COMPATIBLE WITH BOTH THE OPTIMA REGULATOR AND eFLUSH REGULATOR PRODUCTS.

UNLESS OTHERWISE SPECIFIED,

MAT'L: DRAWN BY:
See Details EROPRIETARY AND CONFIDENTIAL DIMENSIONS ARE IN INCHES
FINISH or SOURCE: THE INFORMATION CONTAINED IN THIS UNSPECIFIED ANGLES ARE 90 "1
TREATMENT DRAWING IS THE SOLE PROPERTY OF INCH TOLERANCES: | METRIC TOLERANCES:
o LUBING SYSTEMS LP. ANY REPRODUCTION FRACTIONAL+1/16" | ANGULAR: +1.0
See Details IN PART OR AS A WHOLE WITHOUT THE ANGULAR: £1.0 X *05
WRITTEN PERMISSION OF LUBING SYSTEMS XXX +0.01 XX +0.25
WEIGHT: : :
© SCALE DATE LP IS PROHIBITED. X.XXX +0.005 XXX $0.1

0.35 1:2 4/29/2022 XXXXX +0.0005

OLD SIGHT TUBE WITH SPRING AND NEW SPRINGLESS SIGHT TUBE
ARE COMPATIBLE WITH OPTIMA & eFLUSH REGULATOR PRODUCTS

e ————— DWG. NO. PART NO.
FARMER BOY DESCRIPTION:

www.farmerboyag.com - 800-845-3374 OPTIMA/eFLUSH MANUAL REGULATOR ACCESSORIES



	REGULATOR KITS CROSS REFERENCE
	Drawing View8

	SPARE PARTS CROSS REFERENCE
	Drawing View1

	REGULATOR ACCESSORIES
	Drawing View10
	Drawing View11
	Drawing View12


